
01

PARTS INCLUDED
1PC   Compact  Baff led Oil Catch Can
1PC   Applicat ion-Specif ic Mount ing Bracket
2PC   Direct -Fit  Hoses
1PC   3/8" Aluminum Barbed Fit t ing
1PC   1/2" Aluminum Barbed Fit t ing
4PC   Worm Gear Clamps
1PC   Mount ing Hardware Pack

TOOLS NEEDED
7mm Socket  
10mm Wrench
14mm Wrench
17mm Wrench
2.5mm Allen Key
1/4" Drive Ratchet
Pliers

INSTALL TIME   30 Minut es

INSTALL DIFFICULTY

DISCLAIMER
- Allow vehicle to cool completely pr ior to
   at tempt ing installat ion.

- Mishimoto is not  responsible for any vehicle
   damage or personal injury due to installat ion
   errors, m isuse, or removal of Mishimoto products.

- Mishimoto suggests that  a t rained professional
   install all Mishimoto products.

INSTALL PROCEDURE
1. Compress the clamp on each end of the PCV 

hose. Separate the PCV hose by sliding the ends 
off their respective ports. (2x spring clamps) 

2. Slide the provided aluminum spacer over the 
adjacent M6 stud. 

3. Loosen the nut on the passenger side strut tower, 
just above where you placed the spacer. Install 
the catch can bracket under the loosened nut as 
shown here. Secure the bottom of the bracket at 
the M6 stud. (1x 10mm nut, 1x 14mm nut)

4. Lubricate the O-rings and assemble the catch 
can. The larger fitt ing attaches to the outlet port. 
Tighten the fitt ings with a 17mm wrench.

5. Attach the catch can to the bracket using the 
provided Allen bolts. (3x 2.5mm Allen bolts) 

6. Position a clamp over each end of the thinner 
hose. Then install the end of the thinner hose 
that has a 90° bend to the PCV valve. 
(1x smaller worm gear clamp) 

CONTINUED ON FOLLOWING PAGE

MISHIMOTO  |   18 BOULDEN CIRCLE, NEW CASTLE, DE 19720  |   P 1.877.GOMISHI  |   WWW.MISHIMOTO.COM

2018+ KIA STINGER GT
DIRECT-FIT CATCH CAN, PCV SIDE
PARTS LIST &  INSTALLATION GUIDE



02

7. Install the open end to the inlet port on the catch 
can. (1x smaller worm gear clamp) 

8. Position a clamp over each end of the wider hose. 
Then install the wider hose to the intake tube. 
(1x larger worm gear clamp) 

9. Install the open end to the outlet port on the 
catch can. (1x larger worm gear clamp) 

10. Adjust the catch can so each hose rests 
without any kinks. Once set, completely tighten 
the Allen bolts to secure the catch can. 

11. Tighten the clamps on the hose connections.  

Congrat ulat ions! You have f in ished 
inst all ing t he Mishim ot o 2018+ Kia St inger  
GT Direct -Fit  Cat ch Can, PCV Side.

MISHIMOTO  |   18 BOULDEN CIRCLE, NEW CASTLE, DE 19720  |   P 1.877.GOMISHI  |   WWW.MISHIMOTO.COM

2018+ KIA STINGER GT
DIRECT-FIT CATCH CAN, PCV SIDE
INSTALLATION GUIDE


	MMBCC-STNGR-18PBE_INSTALLATIONGUIDE
	Page 1
	Page 2


